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∫ÉªdG ¢SCGQ áØ∏μJ  1.8


 áØ∏μJ  
""  Cost of Capital∫ÉªdG ¢SCGQ

  


 .1
 .2

 .3

øjódG áØ∏μJ (CG) 1.8
Cost of Debt

           

Cost of DebtøjódG áØ∏μJ
  
   

 
 •


 •      

            


∫ÉªdG ¢SCGQ áØ∏μJ
"  
"


  




øjódG áØ∏μJ


  

Cost of Capital 
Cost of Debt 
Cost of Equity 


Cost of Preferred Stock 


Cost of Common Stock 
Flota on Costs 

á°ù«FôdG äÉë∏£°üªdG
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 •
   

 •
(i)   (kd)    

(t)
kd = i(1 − t)

 ∫Éãe

%35%7.6


0.076 (1 − 0.35) = 0.0494 = %4.94

∂°ùØæH ÜôL

%20%10
%







8% = 1×0.8 = 1× (0.2-1)

https://beadaya.com/
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            
 

 •:The current cost of borrowing á«dÉëdG ¢VGôàb’G áØ∏μJ

 

  


 • :The length of the borrowing term ¢VGôàb’G I qóe

 
         
            
 


 •:The riskiness of the firm á«°ù°SDƒªdG ôWÉîªdG

       


           
  Kd          
2.8
    
    


2.8 πμ°ûdG


kd = i(1 − t)

(%) ∫ƒ°UC’G »dÉªLEG / øjódG

%
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º¡°SC’G áØ∏μJ


   




IRÉàªªdG º¡°SC’G áØ∏μJ







IRÉàªªdG º¡°SC’G áØ∏μJ (Ü) 1.8
Cost of Preferred Stock

   
  
  Cost of Equity º¡°SC’G áØ∏μJ
 
 

 .1
 .2

         
          


Pp = 

Dp

Kp

DpPp
Kp



Pp x kp = Dp .1

Kp = 
Dp

Pp

 .2

Cost of Preferred StockIRÉàªªdG º¡°SC’G áØ∏μJ 


 ∫Éãe

12 1.00 


Kp = 
 1.00

12.00
 = 0.0833 = %8.33

%8.33

https://beadaya.com/


336

  
"

"

∂°ùØæH ÜôL

78
6




ájOÉ©dG º¡°SC’G áØ∏μJ (ê) 1.8
Cost of Common Stock

    Cost of Common Stock ájOÉ©dG  º¡°SC’G  áØ∏μJ 

  

 


""  


"""" 
 


 
 
 


           



ájOÉ©dG º¡°SC’G áØ∏μJ








7.7% = 78/6

https://beadaya.com/


.1
  


ke = i + 
 ike
  
 
          

  .2
(CAPM)


ke = rf + (rm − rf) ß


(rf )


 •(rf )(rm)
 •       "" 

 
          
 

          



 

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             .3

gD0
  
5.5 %105
""

(r)
r=+

r = 
D0 (1 + g)

P
 + g

          

 


 



           


         
   


  

 
 
 



 

 
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





(V = P)

P = 
D0 (1 + g)

ke − g



ke − g = 
D0 (1 + g)

P

ke = 
D0 (1 + g)

P
 + g

       
         
         
      

 
  
Flotation Costsºjƒ©àdG ∞«dÉμJ
(F )
(kne) 



kne = 
D0 (1 + g)

P − F
 + g

  
 

3.8 
(ke)
2.8
 
 



ºjƒ©àdG ∞«dÉμJ



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 ∫Éãe

   %7        
%7 0.935
×  0.935   1       
25 (0.07 + 1)



ke = 
 0.935 (1 + 0.07)

 25
 + 0.07

ke = 
 1
 25

 + 0.07

= 0.04 + 0.07 = 0.11 = %11
  %11    
%4
  %7


  

24   



kne = 
 0.935 (1 + 0.07)

 25 − 1
 + 0.07

kne = 1
24

 + 0.07

= 0.0417 + 0.07 = %11.17
   
 %11.17 
   


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3.8 πμ°ûdG


ke =
D0 (1 + g)

P
 + g

(%) ∫ƒ°UC’G »dÉªLEG / øjódG

%

äÉæjôªàdG

.áë«ë°üdG áHÉLE’G ônàNpG

.1


  .2


 .CG
 .Ü

 .ê
 .O

∂°ùØæH ÜôL


1.15""

%8%4



8.6%=1.15×(4%-8%) + 4%

USER
Rectangle

USER
Rectangle
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